DATE: October 31, 2023							
SUBJECT: Annual Chemical	& Material Requirement Bi	d Results					
	•						
The results of the bid opening o	on October 16 & 17, 2023 for	r the 2024 Annual Chemical, I	Material and Stone	& Gravel requirement	ts have been finalized.		
The low bidders in each categor							
				2024	2023		
<u>Item Bid</u>		Low Bidder	Quantity	<u>Price</u>	<u>Price</u>		
Chemical						6/1/2023	
Hydrofluorosilicic Acid	(Flouride)	Slack Chemical Corp.	7,000 gallons	6.278 per gallon	5.972 per gallon		
Liquid Chlorine	(Chlorine)	JCI Jones Chemical	50/1 ton cyl.	2,650.00 per cyl.	2,553.00 per cyl.		
Polyaluminum Chloride	(PAC)	Holland	60,000 gallons	3.22 per gallon	3.110 per gallon		
Orthophosphate	(Ortho)	Coyne Chemical	8,000 gallons	6.856 per gallon	7.8835 per gallon	7.3619 per gallon	
Sodium Hydroxide	(Caustic Soda)	Surpass Chemical Co.	25,000 gallons	1.698 per gallon	2.35 per gallon		
Sodium Permanganate	(Permaganate)	Slack Chemical Corp.	8,000 gallons	12.49 per gallon	11.220 per gallon		
				2024	2024	2023	2023
<u>Item Bid</u>		<u>Low Bidder</u>	Quantity	Price Per Unit	Total Price	Price Per Unit	Total Price
<u>Materials</u>							
Service Brass							
60' Type "K" Copper Coils 3/	/4''		ft.		Did Not Bid for 2024	5.00	\$12,600.00
3/4" Couplings			pcs.		Did Not Bid for 2024	19.75	\$2,370.00
3/4" Corporation Stops			pcs.		Did Not Bid for 2024	35.40	\$7,965.00
3/4" Compression Curb Stops	5		pcs.		Did Not Bid for 2024	71.80	\$21,540.00
3/4" FIP by Compression			pcs.		Did Not Bid for 2024	17.10	\$2,565.00
3/4" Compression Reducing (Coupling		pcs.		Did Not Bid for 2024	23.00	\$2,300.00
3/4" Lead Adapter			pcs.		Did Not Bid for 2024		
_				TOTAL PRICE -	\$0.00		\$49,340.00
Curb Box with Rod		FW Webb	N/A	\$ 55.00 ea.	N/A	\$56.00 ea.	N/A
(Curb Well Castings)				TOTAL PRICE -	N/A	\$56.00 ea.	N/A
				2024	2024	2023	2023
<u>Item Bid</u>		Low Bidder	# of pieces	Price Per Unit	<u>Total Price</u>	Price Per Unit	Total Price

F.W. Webb Core & Main	500 200 60 200 80 80 80 # of pieces 6 65 35 2 4	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit 711.41 907.81 1,445.92 2,254.62 2,852.93 TOTAL PRICE -	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 Total Price 4,268.46 59,007.65 50,607.20 4,509.24 11,411.72 \$129,804.27	\$51.52 \$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit \$658.50 \$840.30 \$1,338.35 \$2,086.90 \$2,640.72	\$25,760.00 \$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 <u>Total Price</u> \$6,585.00 \$54,619.50 \$46,842.25 \$4,173.80 \$10,562.88 \$122,783.43
F.W. Webb Core & Main	500 200 60 200 80 80 80 # of pieces 6 65 35 2	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit 711.41 907.81 1,445.92 2,254.62 2,852.93	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 Total Price 4,268.46 59,007.65 50,607.20 4,509.24 11,411.72	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit \$658.50 \$840.30 \$1,338.35 \$2,086.90	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price \$6,585.00 \$54,619.50 \$46,842.25 \$4,173.80 \$10,562.88
F.W. Webb Core & Main	500 200 60 200 80 80 80 # of pieces 6 65 35 2	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit 711.41 907.81 1,445.92 2,254.62	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 <u>Total Price</u> 4,268.46 59,007.65 50,607.20 4,509.24	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit \$658.50 \$840.30 \$1,338.35 \$2,086.90	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price \$6,585.00 \$54,619.50 \$46,842.25 \$4,173.80
F.W. Webb Core & Main Core & Main Core & Main	500 200 60 200 80 80 80 # of pieces 6 65 35	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit 711.41 907.81 1,445.92	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 <u>Total Price</u> 4,268.46 59,007.65 50,607.20	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit \$658.50 \$840.30 \$1,338.35	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price \$6,585.00 \$54,619.50 \$46,842.25
F.W. Webb Core & Main Core & Main	500 200 60 200 80 80 ** ** ** ** ** ** ** ** ** ** ** ** **	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit 711.41 907.81	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 <u>Total Price</u> 4,268.46 59,007.65	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit \$658.50 \$840.30	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price \$6,585.00 \$54,619.50
F.W. Webb Low Bidder	500 200 60 200 80 80 80 # of pieces	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 Price Per Unit	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 <u>Total Price</u>	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price
F.W. Webb	500 200 60 200 80 80 80	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE - 2024 <u>Price Per Unit</u>	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00 2024 <u>Total Price</u>	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71 2023 Price Per Unit	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80 2023 Total Price
F.W. Webb	500 200 60 200 80 80	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE -	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80
F.W. Webb	500 200 60 200 80 80	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE -	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80
F.W. Webb	500 200 60 200 80	50.98 64.20 92.89 121.97 151.36 242.71 TOTAL PRICE -	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80 \$275,136.00	\$64.87 \$93.87 \$120.71 \$151.36 \$242.71	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80 \$308,168.80
F.W. Webb F.W. Webb F.W. Webb F.W. Webb F.W. Webb F.W. Webb	500 200 60 200 80	50.98 64.20 92.89 121.97 151.36 242.71	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80	\$64.87 \$93.87 \$120.71 \$151.36	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80
F.W. Webb F.W. Webb F.W. Webb F.W. Webb F.W. Webb F.W. Webb	500 200 60 200 80	50.98 64.20 92.89 121.97 151.36 242.71	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80 19,416.80	\$64.87 \$93.87 \$120.71 \$151.36	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80 \$19,416.80
F.W. Webb F.W. Webb F.W. Webb F.W. Webb	500 200 60 200 80	50.98 64.20 92.89 121.97 151.36	25,490.00 12,840.00 5,573.40 24,394.00 12,108.80	\$64.87 \$93.87 \$120.71 \$151.36	\$12,974.00 \$5,632.20 \$24,142.00 \$12,108.80
F.W. Webb F.W. Webb F.W. Webb F.W. Webb	500 200 60 200	50.98 64.20 92.89 121.97	25,490.00 12,840.00 5,573.40 24,394.00	\$64.87 \$93.87 \$120.71	\$12,974.00 \$5,632.20 \$24,142.00
F.W. Webb F.W. Webb F.W. Webb	500 200 60	50.98 64.20 92.89	25,490.00 12,840.00 5,573.40	\$64.87 \$93.87	\$12,974.00 \$5,632.20
F.W. Webb F.W. Webb	500 200	50.98 64.20	25,490.00 12,840.00	\$64.87	\$12,974.00
F.W. Webb	500	50.98	25,490.00	· ·	<u> </u>
				\$51.52	\$25,760,00
				Ψ57.51	Ψ10,020.00
F.W. Webb	2,000	38.90	77,800.00	\$39.31	\$78,620.00
F.W. Webb	3,200	27.56	88,192.00	\$27.85	\$89,120.00
F.W. Webb	260	35.85	9,321.00	\$36.23	\$9,419.80
<u>Low Bidder</u>	Qty. in feet	Price Per Unit	<u>Total Price</u>	Price Per Unit	Total Price
		2024	2024	2023	2023
		· ·	· · · · · · · · · · · · · · · · · · ·		\$182,325.76
		· ·	,	'	\$6,619.86
					\$6,484.90
		· ·	,	, ,	\$63,499.20
			,	. ,	\$77,687.00
Core & Main	25	3 247 28	81 182 00	\$3,040,00	\$76,000.00
	Core & Main Low Bidder	Core & Main 25 Core & Main 20 Core & Main 2 Core & Main 2 Low Bidder Oty. in feet	Core & Main 25 3,319.36 Core & Main 20 3,391.44 Core & Main 2 3,463.53 Core & Main 2 3,535.61 TOTAL PRICE - Low Bidder Oty. in feet Price Per Unit	Core & Main 25 3,319.36 82,984.00 Core & Main 20 3,391.44 67,828.80 Core & Main 2 3,463.53 6,927.06 Core & Main 2 3,535.61 7,071.22 TOTAL PRICE - \$245,993.08 Low Bidder Oty. in feet Price Per Unit Total Price	Core & Main 25 3,319.36 82,984.00 \$3,107.48 Core & Main 20 3,391.44 67,828.80 \$3,174.96 Core & Main 2 3,463.53 6,927.06 \$3,242.45 Core & Main 2 3,535.61 7,071.22 \$3,309.93 TOTAL PRICE - \$245,993.08 TOTAL PRICE - \$245,993.08 Low Bidder Oty. in feet Price Per Unit Total Price Price Per Unit

<u>Item Bid</u>	<u>Low Bidder</u>	# of pieces	Price Per Unit	<u>Total Price</u>	Price Per Unit	Total Price
KV Butterfly Valve 4500 MJ w/ Buried Operator Open Ri	ight					
16"	Core & Main	2	\$3,732.34	\$7,464.68	\$3,433.59	\$6,867.18
20"	Core & Main	2	\$5,318.30	\$10,636.60	\$4,892.24	\$9,784.48
24"	Core & Main	2	\$7,650.13	\$15,300.26	\$7,038.60	\$14,077.20
			TOTAL PRICE -	\$33,401.54		\$30,728.86
KV R/W Gate Valve MJ Open Right Standard 16"	Core & Main	2	\$8,808.57	\$17,617.14	\$8,807.68	\$17,615.36
			TOTAL PRICE -	\$17,617.14		\$17,615.36
KV R/W Gate Valve MJ Open Right Vertical 16"	Core & Main	2	\$11,516.31	\$23,032.62	\$11,516.31	\$23,032.62
KV R/W Gate Valve MJ Open Right Vertical 20"	Core & Main	2	\$20,465.61	\$40,931.22	\$20,465.61	\$40,931.22
KV R/W Gate Valve MJ Open Right Vertical 24"	Core & Main	2	\$28,319.12	\$56,638.24	\$28,319.12	\$56,638.24
			TOTAL PRICE -	\$120,602.08		\$120,602.08
			2024	2024	2022	2022
Item Bid	Low Bidder	# of pieces	2024 Price Per Unit	2024 Total Price	2023 Price Per Unit	2023 Total Price
Item blu	Low Diduct	# 01 pieces	Trice rei Unit	<u> 10tai 111ce</u>	rice rei omt	10tal Fice
KV R/W Gate Valve MJ Open Right Horizontal 16"	Core & Main	2	\$11,628.31	\$23,256.62	\$11,628.31	\$23,256.62
KV R/W Gate Valve MJ Open Right Horizontal 20"	Core & Main	2	\$20,702.56	\$41,405.12	\$20,702.56	\$41,405.12
KV R/W Gate Valve MJ Open Right Horizontal 24"	Core & Main	2	\$28,447.44	\$56,894.88	\$28,447.44	\$56,894.88
KV R/W Gate Valve MJ Open Right Horizontal 30"	Core & Main	2	\$38,190.96	\$76,381.92	\$35,175.88	\$70,351.76
			TOTAL PRICE -	\$197,938.54		\$191,908.38
Pratt Groundhog Butterfly Valve MJ w/ Buried Operator	Open Right					
16"	Core & Main	4	\$3,507.54	\$14,030.16	\$3,386.94	\$13,547.76
20"	Core & Main	2	\$5,306.54	\$10,613.08	\$5,105.53	\$10,211.06
24"	Core & Main	2	\$7,386.94	\$14,773.88	\$7,105.53	\$14,211.06
			TOTAL PRICE -	\$39,417.12		\$37,969.88
			2024	2024	2023	2023
<u>Item Bid</u>	Low Bidder	# of pieces	Price Per Unit	<u>Total Price</u>	Price Per Unit	Total Price

					2024		2023
				TOTAL PRICE -	\$0.00		\$10,708.85
Ductile Iron Fittings		Core & Main	N/A		Did Not Bid for 2024		\$8,080.16
Ductile Iron Fittings - Wedge	e Gland Restraints	Core & Main	N/A		Did Not Bid for 2024		\$2,628.69
(Zinc Coated)							
Ductile Iron Fittings		F.W. Webb	N/A	TOTAL PRICE -	\$30,077.84		\$29,202.56
		22 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		TOTAL PRICE -	\$255,000.00	422,372.00	\$284,644.00
30"		EJ Prescott	2	\$48,274.00	\$96,548.00	\$53,875.00	\$107,750.00
24"		EJ Prescott	2	\$36,160.00	\$72,320.00	\$40,358.00	\$80,716.00
20"		EJ Prescott	2	\$27,441.00	\$54,882.00	\$30,630.00	\$61,260.00
American Flow Control Gate 16"	e Valve with bevel gears	EJ Prescott	2	\$15,625.00	\$31,250.00	\$17,459.00	\$34,918.00
A	X7.1 . 21.1 . 1						
				TOTAL PRICE -	\$158,452.00		\$176,894.00
24"		EJ Prescott	2	\$36,160.00	\$72,320.00	\$40,357.00	\$80,714.00
20"		EJ Prescott	2	\$27,441.00	\$54,882.00	\$30,631.00	\$61,262.00
16"	, and the spain Source	EJ Prescott	2	\$15,625.00	\$31,250.00	\$17,459.00	\$34,918.00
American Flow Control Gate	Valve with spur gears						
Г				TOTAL PRICE -	\$150,642.00		\$154,890.00
12"		EJ Prescott	4	\$4,258.00	\$17,032.00	\$4,258.00	\$17,032.00
10"		EJ Prescott	2	\$3,364.00	\$6,728.00	\$3,364.00	\$6,728.00
8"		EJ Prescott	15	\$2,158.00	\$32,370.00	\$2,158.00	\$32,370.00
6"		EJ Prescott	65	\$1,356.00	\$88,140.00	\$1,356.00	\$88,140.00
1"		EJ Prescott	6	\$1,062.00	\$6,372.00	\$1,062.00	\$10,620.00

Gravel & Stone					
Aggregate Stone ASTM #57 - Delivered	Edger Enterprises	per ton	\$21.50	\$21.00	
Aggregate Stone ASTM #57 - Pick-Up	T-M-T Gravel	per ton	\$15.00	\$14.50	
Bedding Sand - Delivered	T-M-T Gravel	per ton	\$16.50 *	\$15.00	
	1 11 1 314/01	Porton	410.0 0	410.00	
Bedding Sand - Pick-Up	Edger Enterprises	per ton	\$9.00	\$9.00	
Select Subbase - Delivered	T-M-T Gravel	per ton	\$19.00	\$18.00	
Select Subbase - Pick-Up	T-M-T Gravel	per ton	\$11.75	\$10.75	
* Awarded by coin toss witnessed by General M	anager A. Melens & Executive Secretary	D. Mullaney			
K:\EWBDATA\BIDS\2024 BIDS\Award Memo	s\[Award Worksheet - BOARD.xlsx]Resu	lts Memo to the Bo	oard		